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<H>
0 30~ | 40~ | 50~ | 60~ | 70~ S0~ &3 M
39 49 59 69 79 N) (%)
A 8 100 169 97 36 8 0 418 55
B1 16 335 904 709 440 75 71 2486 325
B2 4 228 839 | 1252 1394 423 83| 47223 55.1
C 0 2 3 15 15 5 1 41 0.5
D 1 14 60 88 98 28 4 293 38
E 0 16 54 67 49 10 4 200 26
R HRU(N) 29 695 | 2,029 2228 2,032 549 99 7,661 100.0
HHTRER(%) 172 374 471 638 766 849 929 62.1

<AME>
0 30~ | 40~ | 50~ | 60~ | 70~ S0~ e e
39 49 59 69 79 N) (%)
A 21 187 293 125 63 12 0 701 10.5
B1 10 328 963 911 465 78 9| 2,764 413
B2 6 149 617 984 914 291 34| 2995 448
C 0 1 5 7 7 1 0 21 03
D 0 5 29 36 49 19 2 140 2.1
E 0 5 14 23 19 1 2 64 10
ZZHBN) 37 675 1921, 2086 1517 402 47 6,685 1000
BT REHR(%) 162 237| 346/ 503| 652, 716 809 482
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0 30~ | 40~ | 50~ | 60~ | 70~ S0~ fAat | MR
39 49 59 69 79 N) (%)
A 3 41 70 38 24 4 0 180 53
B1 6 101 299 324 216 73 11 1,030 30.6
B2 6 61 269 514 646 359 104 1,959 58.1
C 0 0 1 3 10 4 2 20 0.6
D 1 5 19 34 32 14 8 113 34
E 1 2 15 20 15 14 2 69 20
RZEBN) 17 210 673 933 943 468 127 3371 | 1000
AT REH(%) 471 324 452 612 745 835| 913 64.1

<ZME>
0 30~ | 40~ | 50~ | 60~ | 70~ S0~ e R
39 49 59 69 79 N (%)
A 1 14 34 26 15 1 0 91 6.7
B1 4 27 97 153 137 57 13 488 36.1
B2 1 16 78 167 268 165 33 728 539
C 0 0 1 0 2 3 1 7 0.5
D 0 1 4 6 7 10 2 30 22
E 0 0 0 4 1 1 1 7 05
ZZHBN) 6 58 214 356 430 237 50| 1,351| 100.0
AT REE(%) 167 293| 388| 497 647 755 740 57.1
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<H>
30~39 | 40~49 | 50~59 | 60~69 | 70~79 | AEl(N) | %)
A 2 7 3 2 0 14 95
B1 15 17 13 3 1 49 333
B2 8 25 26 17 0 76 51.7
C 0 1 0 0 0 1 0.7
D 0 2 0 1 0 3 20
E 2 1 1 0 0 4 2.7
ZHBN) 27 53 43 23 1 147 100.0
Gt RER(%) 37.0 54.7 62.8 783 0.0 57.1
<ZE>
30~39 | 40~49 | 50~59 | 60~69 | 70~79 | il(N) | HFE (%)
A 3 22 7 0 0 32 17.9
B1 14 52 17 2 0 85 475
B2 6 27 18 1 2 54 30.2
C 0 1 0 0 0 1 0.6
D 0 3 3 0 0 6 34
E 0 1 0 0 0 1 0.6
RZHERU(N) 23 106 45 3 2 179 100.0
G HER(%) 26.1 30.2 46.7 333 1000 34.6




2R

(@) ]l e O o b 2 A7 S5 A R ORI A2 0% 8 1 T B2
<HHE>
50~59 | @it | HEE%)
B2 1 1 50.0
D 1 1 50.0
R EBN) 2 2 100.0
AT AEZ (%) 100.0 100.0
<Zh>
50~59 | 60~69 | fat(N) | HE %)
B1 1 0 1 333
D 1 1 2 66.7
& 2 (UN 2 1 3 100.0
AR RAER (%) 500  100.0 66.7

TER28EE



TER28EE

O TS S
<HE>
30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ ff)r (%)
A 1 0 0 0 0 0 1 0.6
B1 2 6 2 2 1 0 13 8.3
B2 4 15 17 29 9 3 77 494
C 0 0 1 2 2 0 5 32
D 3 5 17 24 3 2 54 34.6
E 0 1 1 3 1 0 6 3.8
ZZHB(N) 10 27 38 60 16 5 156 100.0
BT HAEH (%) 70.0 77.8 94.7 96.7 93.8 100.0 91.0
<>
30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ | Tva(A\) | HE(%)
A 2 0 1 1 0 0 4 37
B1 0 2 5 6 2 0 15 13.9
B2 4 13 12 26 8 1 64 59.3
D 0 7 10 7 1 0 25 23.1
RZHERU(N) 6 22 28 40 11 1 108 100.0
AT R (%) 66.7 90.9 78.6 82.5 81.8| 1000 82.4
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<G>

&3
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ (N)

HELL 8 100 168 97 36 8 0 417
BERY -7 0 8 20 20 10 6 2 66
BRI A 0 0 2 2 9 0 1 14
BB RN 0 0 0 5 3 1 0 9
FEIE RS T S 0 3 14 28 22 2 4 73
AR 2 189 639 758 615 127 16 2,346
alkE % 13 261 901 | 1,036 910 204 33 3,358
T 2% 4 138 596 939 | 1,202 393 84 3356
ER-0 0 3 8 8 7 3 2 31
B IR 0 2 27 60 110 43 7 249
HXY—7 3 131 501 645 498 126 14 1918
R A 0 1 11 11 20 7 1 51
BRI 0 3 18 33 33 11 0 98
TR i 0 7 47 94 112 27 9 296
+ 5% 2 25 105 103 58 14 0 307
+ AR 0 10 11 12 5 2 0 40
+ B R 1 26 94 129 124 35 7 416
+EER Y — 7 0 6 22 43 56 10 2 139
Q=) AR 0 0 6 13 7 2 0 28
T AR MR 2 0 1 0 1 2 0 0 4
+ AR I RE I T 0 1 16 11 24 5 0 57
L v FOVIETE K 0 6 37 59 75 25 1 203
Z DI DIRZE 11 366 1,188 | 1411 17296 370 80 4722
iz 44| 1287| 4431 5518 5234 1421 263 18,198
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<ZtE>
=k
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ (N)
B L 21 187 293 125 63 12 0 701
BERY) —7 0 9 38 45 21 6 0 119
AR Z 0 3 1 3 2 2 0 11
RN RN 2 0 0 0 1 2 1 0 4
ErEREI T 0 1 6 13 11 6 0 37
AR 1 56 231 288 248 75 10 909
Ak % 9 185 685 809 599 151 12 2,450
1BMEE % 6 98 421 766 782 251 41 2,365
==t 0 1 1 8 4 2 2 18
T TR 0 2 14 32 25 11 1 85
HrY—7 1 210 777 915 560 124 12 2,599
R A 0 1 5 7 13 2 0 28
LR 0 0 8 12 18 7 0 45
R T 0 8 58 102 89 42 1 300
+ g% 0 3 18 23 18 4 0 66
=1 B¢ 0 3 5 5 2 0 0 15
+ i s 0 5 30 82 66 18 3 204
+iEBAEY —7 0 3 9 12 11 1 0 36
Q=) oy A U 0 0 1 2 0 1 0 4
T AR G R A 0 0 0 1 0 0 0 1
T AR R T S 0 2 4 8 7 2 0 23
TV v FOVIRETE R 0 5 11 11 8 6 1 42
Z Db DIRE 5 154 589 743 664 195 26 2,376
st 43 936 | 3205, 4013 3213 919 109 12,438
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Aat
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ (N)
R RL 3 41 70 38 24 4 0 180
BERY —7 0 0 5 8 5 1 1 20
AP IERA 0 0 1 1 1 1 0 4
je L ERITE RPN 0 0 0 1 4 2 0 7
LG REIE T 0 2 4 13 13 12 2 46
AR 5 54 208 299 264 127 19 976
Ak % 8 85 288 486 419 188 45 1,519
1B % 4 37 192 388 541 325 106 1,593
ERi ¢ 1 0 1 5 1 4 0 12
R 0 1 7 17 45 29 13 112
EEAVA 3 32 164 252 235 97 24 807
W R 2 0 0 1 3 7 4 2 17
E1 AR 0 1 5 9 9 7 1 32
RIS s 0 2 9 46 59 28 8 152
+ 5% 0 8 23 33 23 6 3 96
+ e s 1 0 1 1 3 0 0 6
+ A T R 0 3 29 46 67 24 14 183
+ 3Ry — 7 0 3 7 12 21 6 4 53
Qe 0 1 2 3 1 1 0 8
gaetie) L 0 0 0 1 1 0 0 2
T AR R T 0 0 3 2 9 3 1 18
7V v FOVIRETE R 0 0 7 34 32 7 2 82
Z D DHZ 8 94 377 531 576 308 99 1,993
st 33 364 | 1404| 2229 2360 1,184 344 7918
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<AME>
Aat
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ (N)
R RL 1 14 34 26 15 1 0 91
BERY —7 0 0 5 6 2 3 0 16
AP IERA 0 0 0 1 0 0 0 1
RGN 0 0 0 0 1 0 0 1
BB RS T e 0 0 1 2 2 4 0 9
AR 1 9 28 57 77 42 12 226
Ak % 2 14 76 146 182 102 17 539
1B % 1 14 46 121 211 136 27 556
ERi ¢ 0 1 0 1 0 2 0 4
ERi=C T3 0 0 0 3 8 5 4 20
HEy)—7 1 13 79 165 137 75 21 491
H RN 0 0 0 2 1 1 0 4
LUl 0 1 1 2 3 3 2 12
S REIE T 0 2 8 20 31 23 6 90
B 0 0 2 2 1 1 0 6
+ G T 0 0 8 11 18 5 1 43
+ofBERY =7 0 0 1 2 2 1 0 6
+ IR AN A 0 0 0 0 1 0 0 1
T AR R T S 0 0 0 2 1 1 1 5
7L v FOVIRETE R 0 1 2 2 0 1 1 7
Z DA DIFZE 1 13 77 125 157 133 35 541
ioF 7 82 368 696 850 539 127 2,669
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< B>
i
30~39 | 40~49 | 50~59 | 60~69 | 70~79 (N)

S L 2 7 3 2 0 14
BER) -7 1 0 0 1 0 2
IR 22 0 1 0 0 0 1
FER 7 22 16 7 0 52
AMEE R 9 19 19 11 0 58
M2 R 7 14 14 14 0 49
R 0 1 1 1 0 3
BrY—7 5 11 11 7 1 35
B RGAR EE 0 2 5 1 0 8
+ g% 3 3 2 1 0 9
+ R 1 0 1 0 0 2
T AR R R 1 5 0 1 0 7
Rt = ) 7y LR 1 0 0 0 0 1
AR RG T RS 0 0 2 0 0 2
T FOVESEIEL 0 0 1 1 0 2
Z DA DIRE 17 25 31 9 0 82
faEt 54 110 106 56 1 327

<>

70~79 | il
30~39 | 40~49 | 50~59 | 60~69 (N)

HE L 3 22 7 0 0 32
BER) -7 0 2 2 0 0 4
ARG 2 0 1 0 0 0 1
FEERKIEL T 5 0 1 0 0 0 1
R 1 12 4 1 0 18
A% 9 40 17 2 1 69




1M % 5 17 14 1 1 38
(ERI= 335 0 0 1 0 1 2
HRY—7 8 37 18 2 1 66
EL LS 0 1 0 0 0 1
ORGSR 0 1 2 0 0 3
TR 0 0 1 0 0 1
T R R R 1 3 1 0 0 5
T AR RGBT 0 0 1 0 0 1
Z DAt DI 4 25 15 2 0 46
et 31 162 83 8 4 288
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<>
50~59 | &dt (AN)

AR 1 1
12MEE R 1 1
ERiv 1 1
BRIV 1 1
S A 1 1
Z DA DIRZ 1 1
e 6 6

<>

50~59 | 60~69 | &3F (A)

BERY -7 0 1 1
AE RN 0 1 1
AEER 1 0 1
1BEE R 1 1 2
B B MR 22 1 0 1
st 3 3 6
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<HE>
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30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ (N)

BELL 1 0 0 0 0 0 1
BERY -7 1 0 0 1 0 0 2
FEIE RGBT S 0 0 1 2 0 0 3
R 2 6 12 22 6 1 49
a2k % 5 13 23 23 7 0 71
18 % 2 19 29 55 15 5 125
ER-0 0 0 3 1 0 0 4
R 1 2 4 11 4 0 22
BHrY—7 3 4 4 9 4 1 25
ElE MR 1 1 2 4 0 1 9
B 2 1 2 5 12 2 0 22
RGBT s 0 0 1 3 2 0 6
-t 0 1 0 1 0 0 2
+ R 0 0 2 0 0 0 2
+ G T 1 2 3 7 4 0 17
+EER Y — 7 0 0 0 2 0 0 2
Q=) G AR 0 0 2 1 0 0 3
T AR A M 2 1 0 0 0 0 0 1
T ARG T 0 0 0 1 0 0 1
L v VBT 0 0 0 1 0 0 1
Z DA DIRZE 7 14 25 39 15 3 103
s 26 64 116 195 59 11 471

<z >

30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ | &3 (A)

BERL 2 0 1 1 0 0 4
BERY—7 0 0 0 3 1 0 4
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RGN IS 0 0 0 1 1 0 2
AR 0 2 1 7 2 0 12
2E R 1 8 15 18 5 1 48
EiE R 5 22 19 25 8 1 80
B 0 0 0 2 1 0 3
(ERI=03 135 0 0 1 4 1 0 6
HRY—7 0 4 8 17 4 0 33
1SRN 0 3 1 1 0 0 5
EL LS 0 1 6 1 0 0 8
RGBT s 0 1 1 6 0 0 8
+ G 0 0 1 0 0 0 1
+ G T 1 2 4 2 0 1 10
+ 3R E Y — 7 0 0 0 1 0 0 1
TV v FOVRETEEK, 0 1 0 0 0 0 1
Z Dt DIFE 0 6 5 14 4 2 31
et 9 50 63 103 27 5 257
< R AL A R >
<HE>
o 30~ | 40~ | 50~ | 60~ | 70~ S0~ et | R
39 49 59 69 79 N) (%)
Group 1 1 17 67 103 111 26 6 331 895
Group I 0 0 0 2 7 0 2 11 3.0
Group III 0 0 0 2 1 1 0 4 1.1
Group 1V 0 0 0 0 5 0 1 6 16
Group V 0 0 0 4 4 4 0 12 32
Z Dfth 0 0 1 3 2 0 0 6 1.6
ZHER(N) 1 17 68 114 130 31 9 370 | 100.0




TER28EE

<ZtE>
3 RS
30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ | AEI(N) (%)
Group 1 4 37 45 55 24 3 168 95.5
Group 1II 0 0 1 0 0 0 1 0.6
Group III 0 0 0 1 1 0 2 1.1
Group 1V 0 0 0 1 0 1 2 1.1
Group V 0 0 1 0 0 0 1 0.6
Z DAfth 0 0 1 1 0 0 2 1.1
ZZHE(N) 4 37 48 58 25 4 176 | 100.0

Group 1:IEHfHAkE X VR 2R I v RIERZ
Group II: BB Z/R TR EHE I N BHIHE
Group III: RAE & BN FGHIR DN A

Group IV : D3R BED N B IHZ

Group V :J#

ZOfth B



